
W W W . A T T A C K . S K

ATTACK PEL5000
ATTACK PEL5000WP

MONTÁŽNÝ NÁVOD
MONTÁŽNÍ NÁVOD
MOUNTING MANUAL
MONTAGEANLEITUNG
FELSZERELÉSI KÉZIKÖNYV





 

 

SIL
IC

ON

17 (1x) 18 (2x)

SI
LI

C
O

N

 

SI
LI

C
O

N

17

 

16

5

165

18

17

1A PEL5000WP

2A

3

4
1

2



 

 
 

 

16

5

5 5

16

PEL50001B

2B 1

2
3

4



      1 (2x) 

M5 x 8M6 x 18 6 M6 x 16

M5 x 8 M3 x 10  M3

M6

2 (10x) 3 (10x) 4 (8x)       5 (88x) 

      6 (6x)       7 (8x)      8 (18x)       9 (18x)       10 (18x) 

      11 (1x)       12 (1x) 
 3  3,2

      13 (2x)       14 (2x)       15 (1x) 

 

 

 

 

 

PEL5000WP

5

5

3

4

PEL5900C

1

2

3

L R

      16 (20x) 

 5,3



SI
LI

C
O

N

 

 

      1 (2x) 

M5 x 8M6 x 18 6 M6 x 16

M5 x 8 M3 x 10  M3

M6

2 (10x) 3 (10x) 4 (8x)       5 (32x) 

      6 (6x)       7 (8x)      8 (16x)       9 (10x)       10 (8x) 

      11 (1x)       12 (1x) 
 3  3,2

      13 (2x)       14 (2x)       15 (1x) 

 

 

 

 

 

5

3

PEL5000WP

5

5

53

4

2

1

FOR PEL5000WP

PEL5900C

1

2

3

L R



SI
LI

C
O

N

 

 

 

55 5
5

11

15

3

2

1

1

6 7

3

PEL5000WP

9

8
6



SI
LI

C
O

N

 

 

 

55 5
5

11

15

3

2

1

1

6 7

3

PEL5000WP

9

8
6



 

SILIC
O

N

SILIC
O

N

  

5

PEL5000

PEL5000WP PEL5000WP

PEL5000

5

1

3

2

12

3

2

8

10

4

13

714

8 9



 

SILIC
O

N

SILIC
O

N

  

5

PEL5000

PEL5000WP PEL5000WP

PEL5000

5

1

3

2

12

3

2

8

10

4

13

714

8 9





AT
TA

CK
, s

.r.
o.

 –
 0

4/
20

18

ATTACK, s.r.o. • Dielenská Kružná 5020, 038 61 Vrútky • Slovakia
Tel: +421 43 4003 101 • Fax: +421 43 3241 129 • E-mail: kotle@attack.sk

Export – tel: +421 43 4003 103 • Fax: +421 43 3241 129 • E-mail: export@attack.sk

Výrobca ATTACK, s.r.o. si vyhradzuje právo technických zmien výrobkov bez predchádzajúceho upozornenia.




